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Boyle's law states that a decrease in volume will lead to an increase in pressure, for a perfect gas, at a
constant temperature. This is an inversely proportional relationship
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a) enthalpy of solidification (or fusion) is the amount of energy required to bring about a state change from
solid to liquid or vice versa. It's usually given as Joules/Kilograms.
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a) conductors usually have a giant lattice structure and valence electrons, the combination of both makes it
very easy to pass electrons through the structure as a whole.

Insulators usually do not have a giant lattice structure, and are made from isolated molecules (such as PVC),
and they do not have valence electrons. This creates very high internal resistance, which means they are not
good conductors.

bi) magnetic effect, Solenoids, electric motor
bii) chemical effect, charging a lead acid battery, anodising a metal, such as chrome or zinc plating
biii) heating effect: electric space heater, shower, kettle, electric fuse.
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9a) as the temperature increases, the resistance of a metal usually increases. This is due to more internal
resistance, caused by the atoms in the metal vibrating faster, making it harder for the electrons to pass.

b) thermistors, used in electronic thermometers would take advantage of this effect.
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bi) its Gauge Pressure

bii) Absolute pressure would include the atmospheric pressure, as that isn't stated, | cant add it to the
calculations.
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Gauge pressure compares the pressure within to the pressure on the outside of a container, effectively

showing the DIFFERENCE in pressures.

Absolute pressure includes atmospheric pressure, and is a pressure compared to an absolute vacuum.

To get an approximation of absolute pressure from the gauge, | would add another 1 bar, or 100,000 Pa

assuming we are at sea level.
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